District School Board of Pasco County Bid Recommendation

Bid Title	Paper Products-Warehouse Stock	Number of Vendors Notified	233
Bid Number	12-011-SB	Number of Bids Distributed	71
Date Solicited	January 14, 2011	Number of Vendors Bidding	14
Date Opened	February 16, 2011	Number of Vendors Not Bidding	1
Date Board Presentation	April 5, 2011	Funding Source	General Funds
Total Savings	\$65,828.87	Grand Total of Bid	\$664,626.30

Recommendation:

Recommend acceptance of bids as noted on the attached tabulation sheet as lowest and best, responsive, responsible bids meeting written specifications.

Term of Contract:

This bid is to establish a firm fixed price for the annual purchase of paper products to be stocked in the central warehouse for use throughout the District.

Notations and Exceptions:

In most cases, paper was bid in two groups per category recycled content and non-recycled. (i.e., Group I Drawing Paper – Non-Recycled and Group I-A Drawing paper – Recycled content). Any group denoted with an "A" after the group refers to a recycled content product. Bidders were advised only one group would be awarded based upon costs.

Offers from the vendors listed herein are the only offers received timely as of the specified opening date and time. All other offers submitted in response to this solicitation, if any, are hereby rejected as late.

<u>Group I Drawing Paper-</u> Recommend acceptance of bid from Pyramid School Products as the lowest and best, responsive and responsible bid meeting written specification and testing criteria. Recommend rejection of bids from Ace Office Supplies, AFP Industries, Bye-Mo'r Inc., and DGS Educational as the samples were too thin and markers bled through the paper.

Date/Time: March 30, 2011 07:42:00

Group IV Practice Paper, Chart Paper, and Newsprint Paper

PP-09 Practice Paper, PP-16 Newsprint Paper, PP-57 Storybook Newsprint-Recommend rejection of all bids for Group PP-09, PP-16, PP-57 as the same product was bid for recycled content under IVA for the same cost as the virgin product and met minimum specified recycled content.

Group IVA Practice Paper, Chart Paper, and Newsprint Paper

PP-09A Practice Paper, PP-16A Newsprint Paper, PP-57A Storybook Newsprint-Recommend acceptance of bid from AFP Industries as the lowest and best, responsive and responsible bid meeting written specifications, testing criteria and specified recycled content.

<u>Group V Railroad Board-</u> Recommend acceptance of bid from DGS Educational as the lowest and best, responsive and responsible bid meeting written specifications and testing criteria.

Group VA Railroad Board- Recommend rejection of all bids for Group VA as the same product was bid for virgin paper under V for the same cost. The assorted railroad board met the recycle content but the white railroad did not meet the minimum specified recycled content.

Group VII Envelopes

<u>PP-26 10" x 15" Clasp Envelopes</u>- Recommend acceptance of bid from Pyramid School Products as the lowest and best, responsive and responsible bid meeting written specification and testing criteria. Recommend rejection of bid from DGS Educational as the envelope was 10 x 13 and did not meet the specifications.

<u>P-32 # 10 envelopes-</u>Recommend acceptance of bid from Pyramid School Products as the lowest and best, responsive and responsible bid meeting written specification and testing criteria. Lower bid from Bye-Mo'r was disqualified as they did not submit the requested sample used for testing and evaluation purposes.

<u>PP-67 12" x 15" envelopes-</u>Recommend acceptance of bid from School Specialty as the lowest and best, responsive and responsible bid meeting written specification and testing criteria. Lower bid from Bye-Mo'r was disqualified as they did not submit the requested sample used for testing and evaluation purposes.

Group X Misc. Paper Products

PP-44 Continuous Pin Feed- Bid from Standard Stationary was disqualified as they did not submit the requested sample used for testing and evaluation purposes. Request permission to purchase using competitive quotes.

<u>Group XI Construction Paper-</u> Recommend acceptance of bid from Ace Office Supplies as the lowest and best, responsive and responsible bid meeting written specification and testing criteria.

<u>Group XIA Construction Paper-</u> Recommend rejection of all bids for Group XIA. Recommend rejection of the low bid from AFP Industries as the samples were dull, thin, and had poor texture.

Bids Evaluated By:

Susan Green, Bookkeeper, Denham Oaks Elementary Dorcia Bartenope, PLACE Site Manager, Connerton Elementary Diane Boise, Bookkeeper, Ridgewood High School Diane Reedy, Bookkeeper, Centennial Middle School Rich Lenahan, Information Services Department Stefanie Bracciale, Art Teacher

Bids Prepared By:

Stephanie Bunford, Buyer, Purchasing Department

Reviewed and Authorized By:

Kendra Goodman, CPPO, CPPB, Purchasing Agent

		G: February 25, 2010 @ 2:30 p.m		ice Supplies	AFP In	dustiries		lo'r, Inc.
		Products - Warehouse Stock	631 Tri	ump Court	P. O. Bo	x 43-0747		4th Road
BID: # 11			Orland	o, FL 32805	South Mian	ni, FL 33243	Kinsbury	, IN 46345
ITEM#	QTY.	DESCRIPTION						
		GROUP I: DRAWING PAPER						
PP-01	600	Drawing Paper 9" x 12" White	\$5.95	\$3,570.00	\$5.97	\$3,582.00	\$5.80	\$3,480.00
	Packages	Manufacturer	Roselle	WDP80912500	Roselle	WDP80912	American Paper	809W
PP-02	600	Drawing Paper 12" x 18" White	\$11.75	\$7,050.00	\$11.87	\$7,122.00	\$11.60	\$6,960.00
	Packages	Manufacturer	Roselle	WDP801218500	Roselle	WDP80912	American Paper	812W
PP-04	200	Drawing Paper 9" x 12" Buff/Manilla	\$7.25	\$1,450.00	\$7.97	\$1,594.00	\$8.87	\$1,774.00
	Packages		Roselle	MDP501218500	Roselle	MDP501218	American Paper	612M-3
		Total "All or None" Bid Price - Group I		\$12,070.00		\$12,298.00		\$12,214.00
		UP I-A: DRAWING PAPER (Recycle)						
PP-01A	600	Drawing Paper 9" x 12" White	NB		NB		NB	
	Packages							
PP-02A	600	Drawing Paper 12" x 18" White	NB		NB		NB	
		Manufacturer						
PP-04A	200	Drawing Paper 9" x 12" Buff/Manilla	NB		NB		NB	
	Packages	Manufacturer						
		Waste Paper Content						
		Total "All or None" Bid Price - Group I-A	NB		NB		NB	
	GI	ROUP II - XEROGRAPHIC PAPER						
PP-03	21,840	8-1/2" X 11" Xerographic	NB		NB		NB	
	Cases	Manufacturer						
PP-13	100	8-1/2 x 14" Xerographic, Legal	NB		NB		NB	
	Cases	Manufacturer						
		Total "All or None" Bid Price - Group II	NB		NB		NB	
		Pallets Required						
		Charge per Pallet / Exchange						
		II-A: XEROGRAPHIC PAPER (Recycle)						
PP-03A	21,840	8-1/2" X 11" Xerographic	NB		NB		NB	
	Cases	Manufacturer						
PP-13A	100	8-1/2 x 14" Xerographic, Legal	NB		NB		NB	
	Cases	Manufacturer						
		Total "All or None" Bid Price - Group II-A	NB		NB		NB	
		Pallets Required						
		Charge per Pallet / Exchange						
		Waste Paper Content						
		GROUP III: Office Pads						
PP-07	360	5" x 8" Office Pads White	\$2.94	\$1,058.40	\$2.88	\$1,036.80	NB	
	Packages	Manufacturer	Тор	7500	Ampad	20-364		
PP-08	480	8 1/2" x 11" Office Pads White	\$4.94	\$2,371.20	\$4.83	\$2,318.40	NB	
-	Packages	Manufacturer	Тор	7533	Ampad	20-366		
		Total "All or None" Bid Price - Group III	•	\$3,429.60	*	\$3,355.20	NB	

DATE O	F OPENING	G: February 25, 2010 @ 2:30 p.m	DGS Educational	Products	Elgin School Supp	ly Co Jak	Pak	Ma	c Papers
		Products - Warehouse Stock	4801 Linton Blvd. U		260 Ryan Aven	•	de Industrial		Sligh Avenue
BID: # 11			Delray Beach, F.	L 33445	Chico, CA 959	73 Jacksonville	e, FL 32219	Tamp	a, FL 33610
ITEM#	QTY.	DESCRIPTION	•						
		GROUP I: DRAWING PAPER							
PP-01	600	Drawing Paper 9" x 12" White	\$6.56	\$3,936.00	NB	NB		NB	
	Packages	Manufacturer	American Paper	809W					
PP-02	600	Drawing Paper 12" x 18" White	\$13.11	\$7,866.00	NB	NB		NB	
	Packages	Manufacturer	American Paper	812W					
PP-04	200	Drawing Paper 9" x 12" Buff/Manilla	\$10.00	\$2,000.00	NB	NB		NB	
	Packages	Manufacturer	American Paper	612M-3					
		Total "All or None" Bid Price - Group I		\$13,802.00	NB	NB		NB	
		UP I-A: DRAWING PAPER (Recycle)							
PP-01A	600	Drawing Paper 9" x 12" White	NB		NB	NB		NB	
1	U	Manufacturer							
PP-02A	600	Drawing Paper 12" x 18" White	NB		NB	NB		NB	
	U	Manufacturer							
PP-04A	200	Drawing Paper 9" x 12" Buff/Manilla	NB		NB	NB		NB	
	Packages	Manufacturer							
L		Waste Paper Content							
		Total "All or None" Bid Price - Group I-A	NB		NB	NB		NB	
	GF	ROUP II - XEROGRAPHIC PAPER				*Prices good			
PP-03	21,840	8-1/2" X 11" Xerographic	NB		NB	\$25.72	\$561,724.80	\$25.35	\$553,644.00
	Cases	Manufacturer				Georgia Pacific	999705	Domtar	Quick Copy
PP-13	100	8-1/2 x 14" Xerographic, Legal	NB		NB	\$27.98	\$2,798.00	\$37.09	\$3,709.00
	Cases	Manufacturer				Georgia Pacific	999706	Domtar	Quick Copy
		Total "All or None" Bid Price - Group II	NB		NB		\$564,522.80		\$557,353.00
		Pallets Required							
		Charge per Pallet / Exchange							
	GROUP	II-A: XEROGRAPHIC PAPER (Recycle)							
PP-03A	21,840	8-1/2" X 11" Xerographic	NB		NB	NB		\$27.12	\$592,300.80
	Cases	Manufacturer						Domtar	Husky
PP-13A	100	8-1/2 x 14" Xerographic, Legal	NB		NB	NB		\$39.50	\$3,950.00
	Cases	Manufacturer						Domtar	Husky
		Total "All or None" Bid Price - Group II-A	NB		NB	NB			\$596,250.80
		Pallets Required							
ļ.		Charge per Pallet / Exchange							
		Waste Paper Content						30.00%	
		GROUP III: Office Pads							
PP-07	360	5" x 8" Office Pads White	\$4.57	\$1,645.20	NB	NB		NB	
	Packages	Manufacturer	Roaring Springs	24107					
PP-08	480	8 1/2" x 11" Office Pads White	\$5.55	\$2,664.00	NB	NB		NB	
ĺ	Packages	Manufacturer	Roaring Springs	24112					
		Total "All or None" Bid Price - Group III		\$4,309.20	NB	NB		NB	

DATE O	F OPENING	G: February 25, 2010 @ 2:30 p.m	Pyramid	School Products	RIS Paper	Company, Inc.		School Specialty
BID TITI	LE: Paper	Products - Warehouse Stock	6510 No	orth 54th Street	1531 Boet	tler Rd., Ste. E	W	/6316 Design Dr.
BID: # 11			Tampa,	FL 33610-1908	Unionto	wn, OH 44685	Gre	eenville, WI 54942
ITEM#	QTY.	DESCRIPTION						
		GROUP I: DRAWING PAPER						
PP-01	600	Drawing Paper 9" x 12" White	\$5.85	\$3,510.00	NB		\$6.79	\$4,074.00
	Packages	Manufacturer	Pacon	4809			School Smart	053943
PP-02	600	Drawing Paper 12" x 18" White	\$11.70	\$7,020.00	NB		\$13.45	\$8,070.00
	Packages	Manufacturer	Pacon	4812			School Smart	053946
PP-04	200	Drawing Paper 9" x 12" Buff/Manilla	\$8.56	\$1,712.00	NB		\$13.19	\$2,638.00
	Packages	Manufacturer	Pacon	4212			School Smart	085581
		Total ''All or None'' Bid Price - Group I		\$12,242.00	NB			\$14,782.00
		UP I-A: DRAWING PAPER (Recycle)						
PP-01A	600	Drawing Paper 9" x 12" White	NB		NB		NB	
	Packages	Manufacturer						
PP-02A	600	Drawing Paper 12" x 18" White	NB		NB		NB	
	Packages	Manufacturer						
PP-04A	200	Drawing Paper 9" x 12" Buff/Manilla	NB		NB		NB	
	Packages	Manufacturer						
		Waste Paper Content						
		Total "All or None" Bid Price - Group I-A	NB		NB		NB	
	GI	ROUP II - XEROGRAPHIC PAPER					*	*addition error
PP-03	21,840	8-1/2" X 11" Xerographic	NB		\$25.34	\$553,425.60	\$32.97	**\$20,064.80/\$720,064.80
	Cases	Manufacturer			Fascopy	212972		851001HS
PP-13	100	8-1/2 x 14" Xerographic, Legal	NB		\$37.07	\$3,707.00	\$45.45	\$4,545.00
	Cases	Manufacturer			Fascopy	212974		854001HS
		Total "All or None" Bid Price - Group II	NB			\$557,132.60		\$724,609.80
		Pallets Required						
		Charge per Pallet / Exchange						
	GROUP	II-A: XEROGRAPHIC PAPER (Recycle)						
PP-03A	21,840	8-1/2" X 11" Xerographic	NB		NB		NB	
	Cases	Manufacturer						
PP-13A	100	8-1/2 x 14" Xerographic, Legal	NB		NB		NB	
	Cases	Manufacturer						
		Total "All or None" Bid Price - Group II-A	NB		NB		NB	·
		Pallets Required						
		Charge per Pallet / Exchange						
		Waste Paper Content						
		GROUP III: Office Pads						
PP-07	360	5" x 8" Office Pads White	\$2.72	\$979.20	NB		\$1.99	\$716.40
	Packages	Manufacturer	Ampad	20-364			School Smart	027445
PP-08	480	8 1/2" x 11" Office Pads White	\$4.65	\$2,232.00	NB		\$4.21	\$2,020.80
	Packages	Manufacturer	Ampad	20.360			School Smart	027433
		Total "All or None" Bid Price - Group III	T ###	\$3,211.20	NB		, III II DIIII t	\$2,737.20

DATE OF	F OPENING	G: February 25, 2010 @ 2:30 p.m	Smith Offic	e & Computer Supply	tandard Stati	onery Supply C	Unisource W	orldwide, Inc.		Corporation
BID TITI	E: Paper	Products - Warehouse Stock		9 S. 21st Ave.		oster Ave.	4151 Wo	odcock Dr.		iew Dr., Bldg.
BID: # 11			Holly	wood, FL 33020	Wheeling	g, IL 60090	Jacksonvil	le, FL 32207	Lewisvi	lle, TX 75060
ITEM#	QTY.	DESCRIPTION								
		GROUP I: DRAWING PAPER								
PP-01	600	Drawing Paper 9" x 12" White	NB		\$5.88	\$3,528.00	NB		NB	
	Packages	Manufacturer			Pacon	4809				
PP-02	600	Drawing Paper 12" x 18" White	NB		\$11.74	\$7,044.00	NB		NB	
	Packages	Manufacturer			Pacon	4812				
PP-04	200	Drawing Paper 9" x 12" Buff/Manilla	NB		\$8.54	\$1,708.00	NB		NB	
	Packages	Manufacturer			Pacon	4212				
		Total "All or None" Bid Price - Group I	NB			\$12,280.00	NB		NB	
	GRO	UP I-A: DRAWING PAPER (Recycle)								
PP-01A	600	Drawing Paper 9" x 12" White	NB		NB		NB		NB	
	Packages	Manufacturer								
PP-02A	600	Drawing Paper 12" x 18" White	NB		NB		NB		NB	
	Packages	Manufacturer								
PP-04A	200	Drawing Paper 9" x 12" Buff/Manilla	NB		NB		NB		NB	
	Packages	Manufacturer								
		Waste Paper Content								
		Total "All or None" Bid Price - Group I-A	NB		NB		NB		NB	
	Gl	ROUP II - XEROGRAPHIC PAPER								
PP-03	21,840	8-1/2" X 11" Xerographic	NB		NB		\$30.41	\$664,154.40	\$26.50	\$578,760.00
	Cases	Manufacturer					Unisource		Xerox	3R2047
PP-13	100	8-1/2 x 14" Xerographic, Legal	NB		NB		\$38.50	\$3,850.00	\$41.30	\$4,130.00
	Cases	Manufacturer					Unisource		Xerox	3R2051
		Total "All or None" Bid Price - Group II	NB		NB			\$668,004.40		\$582,890.00
		Pallets Required							9/30/201	1. 5% escalator
		Charge per Pallet / Exchange							thru	6/30/2010
	GROUP	II-A: XEROGRAPHIC PAPER (Recycle)								
PP-03A	21,840	8-1/2" X 11" Xerographic	NB		NB		NB		\$30.10	\$657,384.00
	Cases	Manufacturer							Xerox	3R6296
PP-13A	100	8-1/2 x 14" Xerographic, Legal	NB		NB		NB		\$41.40	\$4,140.00
	Cases	Manufacturer							Xerox	3R6298
		Total "All or None" Bid Price - Group II-A	NB		NB		NB			\$661,524.00
		Pallets Required							0	
		Charge per Pallet / Exchange							\$0.00	
		Waste Paper Content							30.00%	
		GROUP III: Office Pads								
PP-07	360	5" x 8" Office Pads White	NB		\$2.82	\$1,015.20	NB		NB	
,	Packages	Manufacturer			Tops	7500				
PP-08	480	8 1/2" x 11" Office Pads White	NB		\$4.75	\$2,280.00	NB		NB	
-1 00	Packages	Manufacturer	112		Tops	7533	112		112	
	1 uckages	Total "All or None" Bid Price - Group III	NB		1 Ops	\$3,295.20				

DATE O	F OPENING	G: February 25, 2010 @ 2:30 p.m	Ace Of	fice Supplies	AFP I	Industiries	Bye-M	o'r, Inc.
3ID TITI	LE: Paper	Products - Warehouse Stock		riump Court		Sox 43-0747		4th Road
BID: # 11			Orland	lo, FL 32805	South Mia	ami, FL 33243	Kinsbury	, IN 46345
ITEM#	QTY.	DESCRIPTION						
	G	GROUP III-A: Office Pads (Recycle)						
PP-07A	360	5" x 8" Office Pads White	\$5.94	\$2,138.40	NB		NB	
	Packages	Manufacturer	Top	74830				
PP-08A	480	8 1/2" x 11" Office Pads White	\$7.24	\$3,475.20	NB		NB	
	Packages	Manufacturer	Top	74880				
		Waste Paper Content						
		Total "All or None" Bid Price - Group III-A		\$5,613.60	NB		NB	
	IV: PRAC	CTICE PAPER, CHART PAPER AND NEWSPRINT						
PP-09	100	Practice Paper	\$20.54	\$2,054.00	\$18.18	\$1,818.00	\$21.50	\$2,150.00
	Cases	Manufacturer	Roselle	ZB3SSW	Roselle	RWNZB3SSW	American Paper	ARN8508
PP-15	1,200	Chart Paper, Spiral Bound 24" x 32"	\$2.33	\$2,796.00	\$2.27	\$2,724.00	\$2.15	\$2,580.00
	Pads	Manufacturer	Roselle	RWC07412	Roselle	RWC07412	American Paper	ARS2415
PP-58	80	Chart Paper, 24" x 28 1/2"	NB		NB		\$17.35	\$1,388.00
	Boxes	Manufacturer					American Paper	ARS2417
PP-16	50	Newsprint Paper	\$21.94	\$1,097.00	\$17.71	\$885.50	\$19.37	\$968.50
	Cases	Manufacturer	Roselle	WNP912500	Roselle	WNP912	American Paper	309
P-57	100	Storybook Newsprint	\$23.94	\$2,394.00	\$21.83	\$2,183.00	\$23.13	\$2,313.00
	Cartons	Manufacturer	Roselle	RWN121871678PS	Roselle	RWN121871678PS	American Paper	APN1829
		(Recycle)						
P-09A	100	Practice Paper	NB		\$18.18	\$1,818.00	NB	
	Cases	Manufacturer			Roselle	RWNZB3SSW		
P-15A	1,200	Chart Paper, Spiral Bound 24" x 32"	NB		NB		NB	
	Pads	Manufacturer						
PP-58A	80	Chart Paper, 24" x 28 1/2"	NB		NB		NB	
	Boxes	Manufacturer						
PP-16A	50	Newsprint Paper	NB		\$17.71	\$885.50	NB	
	Cases	Manufacturer			Roselle	WNP912		
P-57A	100	Storybook Newsprint	NB		\$21.83	\$2,183.00	NB	
	Cartons	Manufacturer			Roselle	RWN121871678PS		
		Waste Paper Content						
		GROUP V: RAILROAD BOARD						
PP-19	200	Railroad Board-White	\$20.24	\$4,048.00	\$19.87	\$3,974.00	\$19.18	\$3,836.00
	Cartons	Manufacturer	Pacon	5461	Pacon	5461	American Paper	RR610H
P-20	400	Railroad Board-Assorted	\$24.74	\$9,896.00	\$26.40	\$10,560.00	\$24.88	\$9,952.00
	Cartons	Manufacturer	Roselle	RR600100	Roselle	RR600	American Paper	RR6AS
		Total "All or None" Bid Price - Group V		\$13,944.00		\$14,534.00		\$13,788.00
		UP V-A: RAILROAD BOARD (Recycle)			***	*******		
P-19A	200	Railroad Board-White	NB		\$19.87	\$3,974.00	NB	
D 201	Cartons	Manufacturer			Pacon	5461	270	
PP-20A	400	Railroad Board-Assorted	NB		\$26.40	\$10,560.00	NB	
	Cartons	Manufacturer W. C.			Roselle	RR600		
		Waste Paper Content	NTP.			φ14.53.4.00	NP	
		Total "All or None" Bid Price - Group V-A	NB			\$14,534.00	NB	

DATE O	F OPENING	G: February 25, 2010 @ 2:30 p.m	DGS Educational	Products	Elgin School Supply Co	Jak Pak	Mac Papers
		Products - Warehouse Stock	4801 Linton Blvd. U		260 Ryan Avenue	7780-4 Westside Industri	
BID: # 11	-011-SN		Delray Beach, F	L 33445	Chico, CA 95973	Jacksonville, FL 32219	Tampa, FL 33610
ITEM#	QTY.	DESCRIPTION					
	G	ROUP III-A: Office Pads (Recycle)					
PP-07A	360	5" x 8" Office Pads White	\$5.47	\$1,969.20	NB	NB	NB
	Packages	Manufacturer	Roaring Springs	74711			
PP-08A	480	8 1/2" x 11" Office Pads White	\$8.94	\$4,291.20	NB	NB	NB
	Packages	Manufacturer	Roaring Springs	74713			
		Waste Paper Content					
		Total "All or None" Bid Price - Group III-A		\$6,260.40	NB	NB	NB
	IV: PRAC	TICE PAPER, CHART PAPER AND NEWSPRINT					
PP-09	100	Practice Paper	\$24.30	\$2,430.00	NB	NB	NB
	Cases	Manufacturer	American Paper	ARN8508			
PP-15	1,200	Chart Paper, Spiral Bound 24" x 32"	\$2.42	\$2,904.00	NB	NB	NB
	Pads	Manufacturer	American Paper	APS2415			
PP-58	80	Chart Paper, 24" x 28 1/2"	\$18.76	\$1,500.80	NB	NB	NB
	Boxes	Manufacturer	American Paper	ARN2417			
PP-16	50	Newsprint Paper	\$24.05	\$1,202.50	NB	NB	NB
	Cases	Manufacturer	American Paper	309			
PP-57	100	Storybook Newsprint	\$26.04	\$2,604.00	NB	NB	NB
	Cartons	Manufacturer (Recycle)	American Paper	ARN1829			
DD 004	100		ND		ND	N.D.	ND
PP-09A	100 Cases	Practice Paper Manufacturer	NB		NB	NB	NB
PP-15A	1,200	Chart Paper, Spiral Bound 24" x 32"	NB		NB	NB	NB
II-13A	Pads	Manufacturer	МЪ		ND	NB	ND
PP-58A	80	Chart Paper, 24" x 28 1/2"	NB		NB	NB	NB
	Boxes	Manufacturer	1,2		1,2	1,2	1,2
PP-16A	50	Newsprint Paper	NB		NB	NB	NB
11 10/1	Cases	Manufacturer	112		112	1(2	110
PP-57A	100	Storybook Newsprint	NB		NB	NB	NB
	Cartons	Manufacturer			=	=	
		Waste Paper Content					
		GROUP V: RAILROAD BOARD					
PP-19	200	Railroad Board-White	\$17.95	\$3,590.00	NB	NB	NB
	Cartons	Manufacturer	Beveridge	CISRR6WH			
PP-20	400	Railroad Board-Assorted	\$22.75	\$9,100.00	NB	NB	NB
	Cartons	Manufacturer	Beveridge	RR6AS			
		Total "All or None" Bid Price - Group V		\$12,690.00	NB	NB	NB
		P V-A: RAILROAD BOARD (Recycle)					
PP-19A	200	Railroad Board-White	\$17.95	\$3,590.00	NB	NB	NB
	Cartons	Manufacturer	Beveridge	CISRR6WH			
PP-20A	400	Railroad Board-Assorted	\$22.75	\$9,100.00	NB	NB	NB
	Cartons	Manufacturer W. A. B. C. A. A. A.	Beveridge	RR6AS			
		Waste Paper Content	50.00%	¢12 (00 00	ND	ND	ND
		Total "All or None" Bid Price - Group V-A		\$12,690.00	NB	NB	NB

DATE O	F OPENING	G: February 25, 2010 @ 2:30 p.m	Pyrami	d School Products	RIS Paper Company		hool Specialty
BID TIT	LE: Paper	Products - Warehouse Stock	6510 N	North 54th Street	1531 Boettler Rd., S		316 Design Dr.
BID: # 11			Tamp	a, FL 33610-1908	Uniontown, OH 44	685 Gree	nville, WI 54942
ITEM#	QTY.	DESCRIPTION					
	G	GROUP III-A: Office Pads (Recycle)					
PP-07A	360	5" x 8" Office Pads White	NB		NB	NB	
	υ						
PP-08A	480	8 1/2" x 11" Office Pads White	NB		NB	NB	
	Packages	Manufacturer					
		Waste Paper Content					
		Total "All or None" Bid Price - Group III-A	NB		NB	NB	
GROUI	PIV: PRAC	CTICE PAPER, CHART PAPER AND NEWSPRINT	**additio	on error on submittal			
PP-09	100	Practice Paper	\$22.90	\$2,290.00	NB	NB	
	Cases	Manufacturer	American Paper	ARN8508			
PP-15	1,200	Chart Paper, Spiral Bound 24" x 32"	\$2.17	\$2,604.00	NB	NB	
	Pads	Manufacturer	Pacon	74710			
PP-58	80	Chart Paper, 24" x 28 1/2"	\$17.76	**\$1372.80/\$1420.80	NB	NB	
	Boxes	Manufacturer	American Paper	ARN2402A			
PP-16	50	Newsprint Paper	\$19.40	\$970.00	NB	NB	
<u> </u>	Cases	Manufacturer	Pacon	3407			
PP-57	100	Storybook Newsprint	\$23.25	\$2,325.00	NB	\$23.05	\$2,305.00
	Cartons	Manufacturer	American Paper	ARN1829		School Smart	085218
		(Recycle)					
PP-09A	100	Practice Paper	NB		NB	NB	
	Cases	Manufacturer					
PP-15A	1,200	Chart Paper, Spiral Bound 24" x 32"	NB		NB	NB	
	Pads	Manufacturer					
PP-58A	80	Chart Paper, 24" x 28 1/2"	NB		NB	NB	
	Boxes	Manufacturer					
PP-16A	50	Newsprint Paper	NB		NB	NB	
	Cases	Manufacturer					
PP-57A	100	Storybook Newsprint	NB		NB	NB	
	Cartons	Manufacturer					
		Waste Paper Content					
		GROUP V: RAILROAD BOARD					
PP-19	200	Railroad Board-White	\$19.17	\$3,834.00	NB	\$22.71	\$4,542.00
	Cartons	Manufacturer	Pacon	5461		School Smart	085544
PP-20	400	Railroad Board-Assorted	\$24.92	\$9,968.00	NB	\$25.98	\$10,392.00
	Cartons	Manufacturer	Pacon	5488		School Smart	085553
		Total "All or None" Bid Price - Group V		\$13,802.00	NB		\$14,934.00
		UP V-A: RAILROAD BOARD (Recycle)					
PP-19A	200	Railroad Board-White	NB		NB	NB	
I	Cartons	Manufacturer					
PP-20A	400	Railroad Board-Assorted	NB		NB	NB	
l	Cartons	Manufacturer					
		Waste Paper Content					
		Total "All or None" Bid Price - Group V-A	NB		NB	NB	

		G: February 25, 2010 @ 2:30 p.m	Smith Office & Computer Supply			Unisource Worldwide, Inc.	
		Products - Warehouse Stock	1009 S. 21st Ave.		ster Ave.	4151 Woodcock Dr.	03 Rdigeview Dr., Bldg.
BID: # 11			Hollywood, FL 33020	Wheeling	, IL 60090	Jacksonville, FL 32207	Lewisville, TX 75060
ITEM#	_	DESCRIPTION					
		ROUP III-A: Office Pads (Recycle)					
PP-07A	360	5" x 8" Office Pads White	NB	NB		NB	NB
	Packages	Manufacturer					
PP-08A	480	8 1/2" x 11" Office Pads White	NB	NB		NB	NB
	Packages	Manufacturer					
		Waste Paper Content					
		Total "All or None" Bid Price - Group III-A	NB	NB		NB	NB
GROUI	PIV: PRAC	CTICE PAPER, CHART PAPER AND NEWSPRINT					
PP-09	100	Practice Paper	NB	NB		NB	NB
	Cases	Manufacturer					
PP-15	1,200	Chart Paper, Spiral Bound 24" x 32"	NB	\$2.18	\$2,616.00	NB	NB
	Pads	Manufacturer		Pacon	74710		
PP-58	80	Chart Paper, 24" x 28 1/2"	NB	NB		NB	NB
	Boxes	Manufacturer					
PP-16	50	Newsprint Paper	NB	\$19.35	\$967.50	NB	NB
	Cases	Manufacturer		Pacon	3407		
PP-57	100	Storybook Newsprint	NB	NB		NB	NB
	Cartons	Manufacturer					
		(Recycle)					
PP-09A	100	Practice Paper	NB	NB		NB	NB
	Cases	Manufacturer					
PP-15A	1,200	Chart Paper, Spiral Bound 24" x 32"	NB	NB		NB	NB
	Pads	Manufacturer					
PP-58A	80	Chart Paper, 24" x 28 1/2"	NB	NB		NB	NB
	Boxes	Manufacturer					
PP-16A	50	Newsprint Paper	NB	NB		NB	NB
	Cases	Manufacturer					
PP-57A	100	Storybook Newsprint	NB	NB		NB	NB
	Cartons	Manufacturer					
		Waste Paper Content					
		GROUP V: RAILROAD BOARD					
PP-19	200	Railroad Board-White	NB	\$19.22	\$3,844.00	NB	NB
	Cartons	Manufacturer		Pacon	5461		
PP-20	400	Railroad Board-Assorted	NB	\$24.99	\$9,996.00	NB	NB
	Cartons	Manufacturer		Pacon	5488		
		Total "All or None" Bid Price - Group V	NB		\$13,840.00	NB	NB
		JP V-A: RAILROAD BOARD (Recycle)					
PP-19A	200	Railroad Board-White	NB	NB		NB	NB
	Cartons	Manufacturer					
PP-20A	400	Railroad Board-Assorted	NB	NB		NB	NB
	Cartons	Manufacturer					
		Waste Paper Content					
		Total "All or None" Bid Price - Group V-A	NB	NB		NB	NB

Page 8 of 20

		G: February 25, 2010 @ 2:30 p.m	Ace Office			dustiries		-Mo'r, Inc.
		Products - Warehouse Stock	631 Trium			x 43-0747		S 4th Road
BID: # 11			Orlando, F	L 32805	South Miar	ni, FL 33243	Kinsbi	ury, IN 46345
ITEM#	QTY.	DESCRIPTION						
		GROUP VI: INDEX CARDS						ensions made below
PP-21	1200	3" x 5" Index Cards - Un-Ruled	NB		\$3.14	\$3,768.00	\$0.41/\$4.10	\$492.00/\$4920.00
	Pkgs	Manufacturer			Oxford	30	American Paper	Ind35P
PP-22	1200	3" x 5" Index Cards - Ruled	NB		\$3.14	\$3,768.00	\$0.41/\$4.10	\$492.00/\$4920.00
	Pkgs	Manufacturer			Oxford	31	American Paper	Ind35RL
PP-24	600	5" x 8" Index Cards-Ruled	NB		\$4.13	\$2,478.00	\$1.15/\$5.75	\$690.00/\$3450.00
	Pkgs	Manufacturer			Oxford	51	American Paper	Ind58RL
		Total "All or None" Bid Price - Group VI-A	NB			\$10,014.00		\$1674.00/\$13,290.00
		OUP VI-A: INDEX CARDS (Recycle)						
PP-21A	1200	3" x 5" Index Cards - Un-Ruled	NB		\$3.14	\$3,768.00	NB	
	Pkgs	Manufacturer			Oxford	30		
PP-22A	1200	3" x 5" Index Cards - Ruled	NB		\$3.14	\$3,768.00	NB	
	Pkgs	Manufacturer			Oxford	31		
PP-24A	600	5" x 8" Index Cards-Ruled	NB		\$4.13	\$2,478.00	NB	
	Pkgs	Manufacturer			Oxford	51		
		Waste Paper Content						
		Total "All or None" Bid Price - Group VI-A	NB			\$10,014.00	NB	
	T	GROUP VII: ENVELOPES						
PP-25	600	6" x 9" Clasp Envelopes	\$4.15	\$2,490.00	NB		\$4.43	\$2,658.00
	Boxes	Manufacturer	Quality Park	37855			Mead	40655
PP-26	200	10" x 15" Clasp Envelopes	\$8.42	\$1,684.00	NB		\$8.54	\$1,708.00
	Boxes	Manufacturer	Quality Park	37898			Mead	40695
PP-32	200	#10 Envelopes	\$6.83	\$1,366.00	NB		\$5.65	\$1,130.00
	Boxes	Manufacturer	Quality Park	90016			Mead	10116
PP-50	200	10" x 13" Clasp Envelopes	\$6.31	\$1,262.00	NB		\$6.22	\$1,244.00
	Boxes	Manufacturer	Quality Park	37897			Mead	40697
PP-67	100	12" x 15" Clasp Envelopes	\$9.57	\$957.00	NB		\$8.35	\$835.00
	Boxes	Manufacturer	Quality Park	37910			Mead	40710
	1	GROUP VII-A: ENVELOPES						
PP-25A	600	6" x 9" Clasp Envelopes	\$9.25	\$5,550.00	NB		NB	
	Boxes	Manufacturer	Quality Park	SPEC				
PP-26A	200	10" x 15" Clasp Envelopes	\$8.42	\$1,684.00	NB		NB	
	Boxes	Manufacturer	Quality Park	37898				
PP-32A	200	#10 Envelopes	\$11.03	\$2,206.00	NB		NB	
	Boxes	Manufacturer	Quality Park	11116				
PP-50A	200	10" x 13" Clasp Envelopes	\$6.69	\$1,338.00	NB		NB	
	Boxes	Manufacturer	Quality Park	38197				
PP-67A	100	12" x 15" Clasp Envelopes	\$10.43	\$1,043.00	NB		NB	
	Boxes	Manufacturer	Quality Park	38120				
		Waste Paper Content	no recycled allowed					
		* ***						
-	GR	OUP VIII: ADDING MACHINE TAPE						
PP-31	100	Adding Machine Tape 2 1/4"	\$5.95	\$595.00	NB		NB	
	Dozen	Manufacturer	PM	08835	TID		140	

DATE OF	OPENIN	G: February 25, 2010 @ 2:30 p.m	DGS Educational I	Products	Elgin S	School Supply Co	Jak Pa	ak	Mac	Papers
		Products - Warehouse Stock	4801 Linton Blvd. Un	it 11A-650		Ryan Avenue	7780-4 Westside			ligh Avenu
			Delray Beach, FL	33445	Ch	ico, CA 95973	Jacksonville,	FL 32219		, FL 33610
ITEM#	QTY.	DESCRIPTION								
	TITLE: Paper Products - V: # 11-011-SN EM# QTY. GROUP VI 1 1200 3" x 5" In Pkgs Manufactu 22 1200 3" x 5" In Pkgs Manufactu 24 600 5" x 8" In Pkgs Manufactu THE GROUP VI-A: 21A 1200 3" x 5" In Pkgs Manufactu 22A 1200 3" x 5" In Pkgs Manufactu 24A 1200 3" x 5" In Pkgs Manufactu 24A 600 5" x 8" In Pkgs Manufactu 24A 600 5" x 8" In Pkgs Manufactu 25 600 6" x 9" Cl 26 200 10" x 15" Boxes Manufactu 32 200 #10 Envelone 33 2 200 #10 Envelone 34 30 200 10" x 13" Boxes Manufactu 35 200 #10 Envelone 36 200 10" x 15" Boxes Manufactu GROUP VI 25 600 6" x 9" Cl Boxes Manufactu 60 200 10" x 15" Boxes Manufactu	GROUP VI: INDEX CARDS			100/10 and 1	100/5. extensions made				
PP-21	1200	3" x 5" Index Cards - Un-Ruled	NB		\$0.32/\$3.20	\$384.00/\$3840.00	NB		NB	
	Pkgs	Manufacturer			Oxford	30				
PP-22	1200	3" x 5" Index Cards - Ruled	NB		\$0.32/\$3.20	\$384.00/\$3840.00	NB		NB	
	Pkgs	Manufacturer			Oxford	31				
PP-24	600	5" x 8" Index Cards-Ruled	NB		\$0.85/\$4.25	\$510.00/\$2550.00	NB		NB	
	Pkgs	Manufacturer			Oxford	51				
		Total "All or None" Bid Price - Group VI-A	NB			\$1278.00/\$10,230.00	NB		NB	
		OUP VI-A: INDEX CARDS (Recycle)								
PP-21A		3" x 5" Index Cards - Un-Ruled	NB		NB		NB		NB	
		Manufacturer								
PP-22A	1	3" x 5" Index Cards - Ruled	NB		NB		NB		NB	
	_	Manufacturer			_					
PP-24A	1	5" x 8" Index Cards-Ruled	NB		NB		NB		NB	
	Pkgs									
		Waste Paper Content								
		Total "All or None" Bid Price - Group VI-A	NB		NB		NB		NB	
D 25	COO	GROUP VII: ENVELOPES	ΦΑ 11	#2 4 66.00	NID		ND		NID	
PP-25	+	6" x 9" Clasp Envelopes	\$4.11	\$2,466.00 37855	NB		NB		NB	
D 24			Quality Park		NID		ND		NID	
PP-26		10" x 15" Clasp Envelopes	\$8.33	\$1,666.00	NB		NB		NB	
			Quality Park	37898						
PP-32		#10 Envelopes	\$6.785	\$1,357.00	NB		NB		NB	
			Quality Park	90016						
PP-50		10" x 13" Clasp Envelopes	\$6.24	\$1,248.00	NB		NB		NB	
	Boxes	Manufacturer	Quality Park	37897						
PP-67	100	12" x 15" Clasp Envelopes	\$9.42	\$942.00	NB		NB		NB	
	Boxes	Manufacturer	Quality Park	37910						
	T	GROUP VII-A: ENVELOPES								
PP-25A		6" x 9" Clasp Envelopes	\$9.35	\$5,610.00	NB		NB		NB	
	+	Manufacturer	Quality Park	SPEC						
PP-26A	200	10" x 15" Clasp Envelopes	\$6.64	\$1,328.00	NB		NB		NB	
D 25 :	Boxes	Manufacturer	10" x 13" Quality Park	38197						
PP-32A	200	#10 Envelopes	\$10.95	\$2,190.00	NB		NB		NB	
D 50 :	Boxes	Manufacturer	Quality Park	11116			NE		3.750	
PP-50A	200	10" x 13" Clasp Envelopes	\$6.64	\$1,328.00	NB		NB		NB	
ND (51	Boxes	Manufacturer	Quality Park	38712	ND		ND		NID	
PP-67A	100	12" x 15" Clasp Envelopes	\$10.32	\$1,032.00	NB		NB		NB	
	Boxes	Manufacturer	Quality Park	38120						
		Waste Paper Content	20.00%							
	~~~	NIB VIII A DONNO MA CHINA TA CHI	* minimum order re	equired.						
		OUP VIII: ADDING MACHINE TAPE								
PP-31	100	Adding Machine Tape 2 1/4"	NB		NB		NB		NB	
	Dozen	Manufacturer								

DATE OF	F OPENIN	G: February 25, 2010 @ 2:30 p.m		School Products	RIS Paper Company, Inc		ool Specialty
BID TITL	LE: Paper	Products - Warehouse Stock		orth 54th Street	1531 Boettler Rd., Ste. E		16 Design Dr.
BID: # 11			Tampa,	FL 33610-1908	Uniontown, OH 44685	Green	ville, WI 54942
ITEM#	QTY.	DESCRIPTION					
		GROUP VI: INDEX CARDS		nsions made below			
PP-21	1200	3" x 5" Index Cards - Un-Ruled	\$0.30/\$3.00	\$360.00/\$3600.00	NB	\$3.20	\$3,840.00
	Pkgs	Manufacturer	American Paper	IND35P		School Smart	088708
PP-22	1200	3" x 5" Index Cards - Ruled	\$0.30/\$3.00	\$360.00/\$3600.00	NB	\$3.20	\$3,840.00
	Pkgs	Manufacturer	American Paper	IND35RL		School Smart	088706
PP-24	600	5" x 8" Index Cards-Ruled	\$0.79/\$3.95	\$474.00/\$2370.00	NB	\$8.80	\$5,280.00
	Pkgs	Manufacturer	American Paper	IND58RL		School Smart	088713
		Total "All or None" Bid Price - Group VI-A		\$1194.00/\$9570.00	NB		\$12,960.00
		OUP VI-A: INDEX CARDS (Recycle)					
PP-21A	1200	3" x 5" Index Cards - Un-Ruled	NB		NB	NB	
	Pkgs	Manufacturer					
PP-22A	1200	3" x 5" Index Cards - Ruled	NB		NB	NB	
	Pkgs	Manufacturer					
PP-24A	600	5" x 8" Index Cards-Ruled	NB		NB	NB	
	Pkgs	Manufacturer					
		Waste Paper Content					
		Total "All or None" Bid Price - Group VI-A	NB		NB	NB	
		GROUP VII: ENVELOPES					
PP-25	600	6" x 9" Clasp Envelopes	\$3.96	\$2,376.00	NB	\$4.82	\$2,892.00
	Boxes	Manufacturer	Quality Park	37855		085038	
PP-26	200	10" x 15" Clasp Envelopes	\$8.02	\$1,604.00	NB	\$8.47	\$1,694.00
	Boxes	Manufacturer	Quality Park	37898		085051	
PP-32	200	#10 Envelopes	\$6.53	\$1,306.00	NB	\$7.10	\$1,420.00
	Boxes	Manufacturer	Quality Park	90016		085022	
PP-50	200	10" x 13" Clasp Envelopes	\$6.01	\$1,202.00	NB	\$7.21	\$1,442.00
	Boxes	Manufacturer	Quality Park	37897		085046	. ,
PP-67	100	12" x 15" Clasp Envelopes	\$9.07	\$907.00	NB	\$9.03	\$903.00
	Boxes	Manufacturer Manufacturer	Quality Park	37910	112	085056	ψ202100
	2000	GROUP VII-A: ENVELOPES	Zumij I mit	2.710		000000	
PP-25A	600	6" x 9" Clasp Envelopes	NB		NB	NB	
1-43/1	Boxes	Manufacturer	IID		TAD .	110	
PP-26A	200	10" x 15" Clasp Envelopes	NB		NB	NB	
	Boxes	Manufacturer	1129		112	1,13	
PP-32A	200	#10 Envelopes	NB		NB	NB	
	Boxes	Manufacturer	2,2		1,2		
PP-50A	200	10" x 13" Clasp Envelopes	NB		NB	NB	
1-5011	Boxes	Manufacturer	1112		110	110	
PP-67A	100	12" x 15" Clasp Envelopes	NB		NB	NB	
I-U/A	Boxes	Manufacturer	1110		110	110	
	DOVES	Waste Paper Content					
		waste rapet Content					
	CDC	DUP VIII: ADDING MACHINE TAPE					
DD 21			NP		ND	ф2. <b>7</b> 2	ф <b>оде</b> 00
PP-31	100	Adding Machine Tape 2 1/4"	NB		NB	\$3.72	\$372.00

DATE O	F OPENIN	G: February 25, 2010 @ 2:30 p.m			tandard Stationery Supply C		Unisource Worldwide, Inc.		Xerox Corporation	
BID TIT	LE: Paper	Products - Warehouse Stock	1009 S. 21st Ave.		2251 Foster Ave.		4151 Woodcock Dr.		03 Rdigeview Dr., Bldg.	
BID: # 11			Hollywood, FL 33020		Wheeling, IL 60090		Jacksonville, FL 32207		Lewisville, TX 75060	
ITEM#	QTY.	DESCRIPTION								
		GROUP VI: INDEX CARDS			**min. orde	er \$1050.00				
PP-21	1200	3" x 5" Index Cards - Un-Ruled	NB		\$2.79	\$3,348.00	NB		NB	
	Pkgs	Manufacturer			Mead	63002				
PP-22	1200	3" x 5" Index Cards - Ruled	NB		\$2.79	\$3,348.00	NB		NB	
	Pkgs	Manufacturer			Mead	63000				
PP-24	600	5" x 8" Index Cards-Ruled	NB		\$4.12	\$2,472.00	NB		NB	
	Pkgs	Manufacturer			Oxford	51				
		Total "All or None" Bid Price - Group VI-A	NB			\$9,168.00	NB		NB	
		OUP VI-A: INDEX CARDS (Recycle)		ould be per package of						
PP-21A	1200	3" x 5" Index Cards - Un-Ruled	\$0.33/\$3.30	\$3348.00/\$3960.00	NB		NB		NB	
	Pkgs	Manufacturer	Esselte	30						
PP-22A	1200	3" x 5" Index Cards - Ruled	\$0.33/\$3.30	\$3348.00/\$3960.00	NB		NB		NB	-
DD 444	Pkgs	Manufacturer	Esselte	31			* T**			-
PP-24A	600	5" x 8" Index Cards-Ruled	\$0.85/\$4.25	\$510.00/\$2550.00	NB		NB		NB	
	Pkgs	Manufacturer	Esselte	50						
		Waste Paper Content	20.00%	\$1303.00 \( \phi \) \( \phi \)	ND		ND		NID	
		Total "All or None" Bid Price - Group VI-A		\$1302.00/\$10,470.00	NB		NB		NB	
DD 45	<00	GROUP VII: ENVELOPES	NTD		<b>#4.00</b>	<b>#2 400 00</b>	<b>0.4.2</b> 6	φ <b>α 55</b> / 00	NID	
PP-25	600	6" x 9" Clasp Envelopes	NB		\$4.00	\$2,400.00	\$4.26	\$2,556.00	NB	
DD 44	Boxes	Manufacturer			Quality Park	37855	Quality Park	37855	3.7E	
PP-26	200	10" x 15" Clasp Envelopes	NB		\$8.15	\$1,630.00	\$8.62	\$1,724.00	NB	
	Boxes	Manufacturer			Quality Park	37898	Quality Park	37898		
PP-32	200	#10 Envelopes	NB		\$6.56	\$1,312.00	\$7.02	\$1,404.00	NB	
	Boxes	Manufacturer			Quality Park	90016	Quality Park	90016		
PP-50	200	10" x 13" Clasp Envelopes	NB		\$6.09	\$1,218.00	\$6.46	\$1,292.00	NB	
	Boxes	Manufacturer			Quality Park	37897	Quality Park	37897		
PP-67	100	12" x 15" Clasp Envelopes	NB		\$9.50	\$950.00	\$9.75	\$975.00	NB	
	Boxes	Manufacturer			Quality Park	37910	Quality Park	37910		
		GROUP VII-A: ENVELOPES								
PP-25A	600	6" x 9" Clasp Envelopes	NB		NB		NB	-	NB	
	Boxes	Manufacturer								
PP-26A	200	10" x 15" Clasp Envelopes	NB		NB		NB		NB	
	Boxes	Manufacturer								
PP-32A	200	#10 Envelopes	NB		NB		NB		NB	
	Boxes	Manufacturer								
PP-50A	200	10" x 13" Clasp Envelopes	NB		NB		NB		NB	
	Boxes	Manufacturer								
PP-67A	100	12" x 15" Clasp Envelopes	NB		NB		NB		NB	
	Boxes	Manufacturer								
		Waste Paper Content								
		OUP VIII: ADDING MACHINE TAPE								
PP-31	100	Adding Machine Tape 2 1/4"	NB		NB		NB		NB	
	Dozen	Manufacturer								

DATE O	F OPENING	G: February 25, 2010 @ 2:30 p.m	Ace Office		AFP Ind	ustiries	Bye-Mo'r, Inc.		
BID TITI	LE: Paper l	Products - Warehouse Stock	631 Triun	np Court	P. O. Box		7123 S 4th Road		
BID: # 11			Orlando, l	FL 32805	South Miam	i, FL 33243	Kinsbu	ry, IN 46345	
ITEM#	QTY.	DESCRIPTION							
G	ROUP IX:	FILE FOLDERS, MANILA AND ASSORTED							
PP-29	2,000	Letter Size File Folders	NB		\$4.67	\$9,340.00	\$4.73	\$9,460.00	
	Boxes	Manufacturer			Oxford	370 1/3	Smead	17525	
PP-37	800	Letter Size File Folder-Assorted	NB		\$9.69	\$7,752.00	\$10.08	\$8,064.00	
	Boxes	Manufacturer			Oxford	152 1/3	Smead	65780	
		Total "All or None" Bid Price - Group IX	NB			\$17,092.00		\$17,524.00	
GROUP		E FOLDERS, MANILA AND ASSORTED (Recycled)			**Quanity error on bid	Į.			
	1,000/2,00					\$4,670.00/			
PP-29A	0	Letter Size File Folders	NB		\$4.67	\$9,340.00	NB		
	Boxes	Manufacturer			Oxford	370 1/3			
	600/					\$5,814.00/			
PP-37A	800	Letter Size File Folder-Assorted	NB		\$9.69	\$7,752.00	NB		
	Boxes	Manufacturer			Oxford	152 1/3			
		Waste Paper Content			20.00%	******			
						**\$10,484.00/			
		Total "All or None" Bid Price - Group IX-A	NB			\$17,092.00	NB		
	GR	OUP X: MISC. PAPER PRODUCTS							
PP-06	1800	Boxes, Record Storage w/ lid	NB		NB		NB		
	Each	Manufacturer							
PP-44	100	Continuous Pin Feed	NB		NB		NB		
	Cases	Manufacturer							
	GR	OUP XI: CONSTRUCTION PAPER							
PP-18A	2000	Orange	\$1.89	\$3,780.00	\$1.96	\$3,920.00	\$2.068	\$4,136.00	
	Packages	Manufacturer	Roselle Rosebrite		Roselle Rosebrite		Tru-Ray		
P-18B	2000	Holiday Green	<b>\$1.87</b>	\$3,740.00	\$2.02	\$4,040.00	\$2.199	\$4,398.00	
	Packages	Manufacturer	Roselle Rosebrite		Roselle Rosebrite		Tru-Ray		
P-18C	2500	Holiday Red	\$1.85	\$4,625.00	\$1.97	\$4,925.00	\$2.058	\$5,145.00	
	Packages	Manufacturer	Roselle Rosebrite		Roselle Rosebrite	·	Tru-Ray	·	
PP-18D	2000	White	\$1.42	\$2,840.00	\$1.51	\$3,020.00	\$1.766	\$3,532.00	
	Packages	Manufacturer	Roselle Rosebrite	,	Roselle Rosebrite	,	Tru-Ray		
PP-18E	2000	Black	\$1.72	\$3,440.00	\$1.73	\$3,460.00	\$1.806	\$3,612.00	
-	Packages	Manufacturer	Roselle Rosebrite		Roselle Rosebrite	. ,	Tru-Ray	. /	
PP-18F	400	Light Brown	\$1.89	\$756.00	\$1.81	\$724.00	\$1.907	\$762.80	
	Packages	Manufacturer	Roselle Rosebrite		Roselle Rosebrite	,	Tru-Ray	, , , , , , , , , , , , , , , , , , , ,	
PP-18G	2000	Yellow	\$1.81	\$3,620.00	\$1.95	\$3,900.00	\$2.038	\$4,076.00	
	Packages	Manufacturer	Roselle Rosebrite	Ψυ,υποιου	Roselle Rosebrite	42,50000	Tru-Ray	Ψ.,070.00	
P-18H	2000	Dark Brown	\$1.95	\$3,900.00	\$2.06	\$4,120.00	\$2.159	\$4,318.00	
- 1011		Manufacturer	Roselle Rosebrite	Ψυ,>00.00	Roselle Rosebrite	ψ 1,120.00	Tru-Ray	ψ 1,010.00	
P-18I	500	Purple	\$2.05	\$1,025.00	\$2.07	\$1,035.00	\$2.139	\$1,069.50	
1 -101	Packages	Manufacturer	Roselle Rosebrite	Ψ1,023.00	Roselle Rosebrite	φ1,033.00	Tru-Ray	Ψ1,007.30	
PP-18J	1000	Light Blue	\$1.69	\$1,690.00	\$1.78	\$1,780.00	\$1.947	\$1,947.00	
1.101	Packages	Manufacturer	Roselle Rosebrite	φ1,090.00	Roselle Rosebrite	\$1,70U.UU		φ1,747.UU	
PP-18K	1000		\$1.82	\$1,820.00	\$1.94	\$1,940.00	Tru-Ray <b>\$2.159</b>	\$2,159.00	
L-19IZ		Light Green	\$1.82 Roselle Rosebrite	\$1,020.00		\$1,240.00		<b>\$4,159.00</b>	
D 107	Packages	Manufacturer		<b>#2 200 00</b>	Roselle Rosebrite	do 250 00	Tru-Ray	da 505 (0	
PP-18L	1200	Pink	\$1.84	\$2,208.00	\$1.96	\$2,352.00	\$2.088	\$2,505.60	

DATE O	F OPENING	G: February 25, 2010 @ 2:30 p.m	DGS Educational Products		Elgin S	chool Supply Co	Jak Pak		Mac Papers	
		Products - Warehouse Stock	4801 Linton Blvd. Unit 11A-650		260 Ryan Avenue		7780-4 Westside Industrial		8610 E. Sligh Avenue	
BID: # 11			Delray Beach	, FL 33445	Chie	co, CA 95973	Jacksonville,	FL 32219	Tampa	a, FL 33610
ITEM#	QTY.	DESCRIPTION								
G	ROUP IX:	FILE FOLDERS, MANILA AND ASSORTED								
PP-29	2,000	Letter Size File Folders	\$4.59	\$9,180.00	\$5.25	\$10,500.00	NB		NB	
	Boxes	Manufacturer	Triangle	1103	Oxford	752 1/3				
PP-37	800	Letter Size File Folder-Assorted	\$7.80	\$6,240.00	\$9.85	\$7,880.00	NB		NB	
	Boxes	Manufacturer	Triangle	1103C	Oxford	152 1/3A				
		Total "All or None" Bid Price - Group IX		\$15,420.00		\$18,380.00	NB		NB	
GROUP		E FOLDERS, MANILA AND ASSORTED (Recycled)	**Quanity error on	bid document for						
	1,000/2,00			\$4,890.00/						
PP-29A	0	Letter Size File Folders	\$4.89	\$9,780.00	NB		NB		NB	
	Boxes	Manufacturer	Triangle	1103RCL						
ĺ	600/			\$4,890.00/						
PP-37A	800	Letter Size File Folder-Assorted	\$8.15	\$6,520.00	NB		NB		NB	
	Boxes	Manufacturer	Triangle	1103CRCL						
		Waste Paper Content								
				**\$9,780.00/						
		Total "All or None" Bid Price - Group IX-A		\$16,300.00	NB		NB		NB	
	GR	OUP X: MISC. PAPER PRODUCTS								
PP-06	1800	Boxes, Record Storage w/ lid	NB		NB		NB		NB	
	Each	Manufacturer								
PP-44	100	Continuous Pin Feed	NB		NB		NB		NB	
	Cases	Manufacturer								
	GR	OUP XI: CONSTRUCTION PAPER			*Prices g	good thru 7/1/2011				
PP-18A	2000	Orange	NB		\$1.98	\$3,960.00	NB		NB	
	Packages	Manufacturer			Roselle					
PP-18B	2000	Holiday Green	NB		\$1.97	\$3,940.00	NB		NB	
	Packages	Manufacturer			Roselle	. , , , , , , , , , , , , , , , , , , ,				
PP-18C	2500	Holiday Red	NB		\$1.96	\$4,900.00	NB		NB	
	Packages	Manufacturer	<u> </u>		Roselle	. ,	·			
PP-18D	2000	White	NB		\$1.51	\$3,020.00	NB		NB	
	Packages	Manufacturer			Roselle	1-7				
PP-18E	2000	Black	NB		\$1.80	\$3,600.00	NB		NB	
11-1015	Packages	Manufacturer	110		Roselle	ψυ,ουσιου	110		110	
PP-18F	400	Light Brown	NB		\$1.88	\$752.00	NB		NB	
11-101	Packages	Manufacturer	110		Roselle	φ132.00	140		110	
PP-18G	2000	Yellow	NB		\$1.95	\$3,900.00	NB		NB	
11-100		Manufacturer	МВ		Roselle	φυ,συυ.υυ	14D		14D	
PP-18H	2000	Dark Brown	NB		\$2.05	\$4,100.00	NB		NB	
тт-10П			ND			\$ <del>4</del> ,100.00	IND		ND	
DD 107		Manufacturer	ND		Roselle	\$1.055.00	NID		ND	
PP-18I	500	Purple	NB		\$2.11	\$1,055.00	NB		NB	
DD 40*	Packages	Manufacturer	***		Roselle	<b>₫4 ₩</b> 00 00			3.75	
PP-18J	1000	Light Blue	NB		\$1.78	\$1,780.00	NB		NB	
	Packages	Manufacturer			Roselle					
PP-18K	1000	Light Green	NB		\$1.91	\$1,910.00	NB		NB	
	Packages	Manufacturer			Roselle					
PP-18L	1200	Pink	NB		\$1.96	\$2,352.00	NB		NB	

		G: February 25, 2010 @ 2:30 p.m			RIS Paper Company				
		Products - Warehouse Stock			1531 Boettler Rd., S		316 Design Dr.		
BID: # 11-			Tampa,	FL 33610-1908	Uniontown, OH 44	685 Green	rville, WI 54942		
ITEM#	QTY.	DESCRIPTION							
		FILE FOLDERS, MANILA AND ASSORTED							
PP-29	2,000	Letter Size File Folders	\$5.19	\$10,380.00	NB	<b>\$5.83</b>	\$11,660.00		
	Boxes	Manufacturer	Oxford	752 1/3		School Smart	015741		
PP-37	800	Letter Size File Folder-Assorted	\$9.66	\$7,728.00	NB	\$1.91	\$1,528.00		
	Boxes	Manufacturer	Oxford	152 1/3ASST		School Smart	001947		
		Total "All or None" Bid Price - Group IX		\$18,108.00	NB		\$13,188.00		
GROUP	1	E FOLDERS, MANILA AND ASSORTED (Recycled)							
	1,000/2,00								
PP-29A	0	Letter Size File Folders	NB		NB	NB			
	Boxes	Manufacturer							
DD 25 1	600/	T. A. C. Tell F. H. A	ND		ND	N.T.			
PP-37A	800	Letter Size File Folder-Assorted	NB		NB	NB			
	Boxes	Manufacturer							
		Waste Paper Content							
		Total "All or None" Bid Price - Group IX-A	NB		NB	NB			
	CD	OUP X: MISC. PAPER PRODUCTS	NB		NB	NB			
DD 04			<b>\$4.20</b>	<b>40.500.00</b>					
PP-06	1800 Each	Boxes, Record Storage w/ lid Manufacturer	\$1.39 Fellowes	<b>\$2,502.00</b> 0070301	NB	NB			
				0070301					
PP-44	100	Continuous Pin Feed	NB		NB	NB			
	Cases	Manufacturer							
		OUP XI: CONSTRUCTION PAPER							
PP-18A	2000	Orange	\$2.05	\$4,100.00	NB	\$2.16	\$4,320.00		
	Packages	Manufacturer				Pacon			
PP-18B	2000	Holiday Green	\$2.17	\$4,340.00	NB	\$2.30	\$4,600.00		
	Packages	Manufacturer				Pacon			
PP-18C	2500	Holiday Red	\$2.03	\$5,075.00	NB	\$2.15	\$5,375.00		
	Packages	Manufacturer				Pacon			
PP-18D	2000	White	\$1.74	\$3,480.00	NB	\$1.84	\$3,680.00		
	Packages	Manufacturer				Pacon			
PP-18E	2000	Black	\$1.79	\$3,580.00	NB	\$1.89	\$3,780.00		
	Packages	Manufacturer				Pacon			
PP-18F	400	Light Brown	\$1.89	\$756.00	NB	\$1.99	\$796.00		
	Packages	Manufacturer				Pacon			
PP-18G	2000	Yellow	\$2.01	\$4,020.00	NB	\$2.13	\$4,260.00		
	Packages	Manufacturer				Pacon			
PP-18H	2000	Dark Brown	\$2.14	\$4,280.00	NB	\$2.26	\$4,520.00		
	Packages	Manufacturer				Pacon			
PP-18I	500	Purple	\$2.11	\$1,055.00	NB	\$2.24	\$1,120.00		
	Packages	Manufacturer		·		Pacon	•		
PP-18J	1000	Light Blue	\$1.93	\$1,930.00	NB	\$2.03	\$2,030.00		
	Packages	Manufacturer	·	*		Pacon			
PP-18K	1000	Light Green	\$2.14	\$2,140.00	NB	\$2.25	\$2,250.00		
	Packages	Manufacturer		. ,		Pacon	. ,=====		
PP-18L	1200	Pink	\$2.06	\$2,472.00	NB	\$2.18	\$2,616.00		

		G: February 25, 2010 @ 2:30 p.m	Smith Office & Computer Supply		tandard Stationery Supply C				Xerox Corporation	
	O TITLE: Paper Products - Warehouse Stock		1009 S. 21st Ave.		2251 Foster Ave.		4151 Woodcock Dr.		03 Rdigeview Dr., Bldg.	
BID: # 11			Hollyv	vood, FL 33020	Wheeling	g, IL 60090	Jacksonville, FL	. 32207	Lewisville, TX 75060	
ITEM#		DESCRIPTION								
		FILE FOLDERS, MANILA AND ASSORTED								
PP-29	2,000	Letter Size File Folders	\$4.70	\$9,400.00	\$4.60	\$9,200.00	NB		NB	
	Boxes	Manufacturer	Esselte	370 1/3	Gussco	30503				
PP-37	800	Letter Size File Folder-Assorted	\$9.80	\$7,840.00	\$9.70	\$7,760.00	NB		NB	
	Boxes	Manufacturer	Esselte	152 1/3	Oxford	152 1/3				
~= ~==		Total "All or None" Bid Price - Group IX		\$17,240.00		\$16,960.00	NB		NB	
GROUP	1	E FOLDERS, MANILA AND ASSORTED (Recycled)								
DD 20.4	1,000/2,00		NID		ND		ND		ND	
PP-29A	0	Letter Size File Folders	NB		NB		NB		NB	
	Boxes	Manufacturer								
DD 25 A	600/	I de G' File Felle A es de l	NID		ND		NID		ND	
PP-37A	800 Boxes	Letter Size File Folder-Assorted  Manufacturer	NB		NB		NB		NB	
	Doxes									
		Waste Paper Content								
		Total "All or None" Bid Price - Group IX-A	NB		NB		NB		NB	
	CD	ROUP X: MISC. PAPER PRODUCTS	ND			lease order by	ND		IAD	
DD 04			NID				ND		NID	
PP-06	1800 Each	Boxes, Record Storage w/ lid Manufacturer	NB		\$1.29 Fellows	<b>\$2,322.00</b> 703	NB		NB	
DD 44									270	
PP-44	100	Continuous Pin Feed Manufacturer	NB		\$37.60 KDM	\$3,760.00	NB		NB	
	Cases				KDM	140				
		ROUP XI: CONSTRUCTION PAPER								
PP-18A	2000	Orange	NB		\$2.05	\$4,100.00	NB		NB	
	Packages	Manufacturer								
PP-18B	2000	Holiday Green	NB		\$2.18	\$4,360.00	NB		NB	
	Packages	Manufacturer								
PP-18C	2500	Holiday Red	NB		\$2.04	\$5,100.00	NB		NB	
	Packages	Manufacturer								
PP-18D	2000	White	NB		\$1.75	\$3,500.00	NB		NB	
	Packages	Manufacturer								
PP-18E	2000	Black	NB		\$1.79	\$3,580.00	NB		NB	
	Packages	Manufacturer								
PP-18F	400	Light Brown	NB		\$1.89	\$756.00	NB		NB	
	Packages	Manufacturer								
PP-18G	2000	Yellow	NB		\$2.02	\$4,040.00	NB		NB	
	Packages	Manufacturer								
PP-18H	2000	Dark Brown	NB		\$2.14	\$4,280.00	NB		NB	
	Packages	Manufacturer								
PP-18I	500	Purple	NB		\$2.12	\$1,060.00	NB		NB	
	Packages	Manufacturer								
PP-18J	1000	Light Blue	NB		\$1.93	\$1,930.00	NB		NB	
	Packages	Manufacturer								
PP-18K	1000	Light Green	NB		\$2.14	\$2,140.00	NB		NB	
	Packages	Manufacturer			, ====	. ,				
PP-18L	1200	Pink	NB		\$2.07	\$2,484.00	NB		NB	
			1127		Ψ2.07	Ψ2, 107.00	1127			

DATE OF	OPENING	G: February 25, 2010 @ 2:30 p.m	Ace Office Supplies		AFP Indu	stiries	Bye-Mo'r, Inc.	
		Products - Warehouse Stock	631 Triur	<u> </u>	P. O. Box 4		7123 S 4th Road	
ID: # 11-			Orlando,	FL 32805	South Miami, FL 33243		Kinsbury, IN 46345	
ITEM#	QTY.	DESCRIPTION						
	Packages	Manufacturer	Roselle Rosebrite		Roselle Rosebrite		Tru-Ray	
P-18O	2000	Assorted	\$1.85	\$3,700.00	\$2.00	\$4,000.00	\$2.340	\$4,680.00
	Packages	Manufacturer	Roselle Rosebrite		Roselle Rosebrite		Tru-Ray	
PP-18S	300	Slate	\$1.89	\$567.00	\$1.93	\$579.00	\$2.038	\$611.40
	Packages	Manufacturer	Roselle Rosebrite		Roselle Rosebrite		Tru-Ray	
P-18U	400	Magenta	\$2.09	\$836.00	\$2.15	\$860.00	\$2.229	\$891.60
	Packages	Manufacturer	Roselle Rosebrite		Roselle Rosebrite		Tru-Ray	
		Total "All or None" Bid Price - Group XI		\$38,547.00		\$40,655.00		\$43,843.90
	GROUP Y	XI-A: CONSTRUCTION PAPER (Recycle)						
P-18A	2000	Orange	NB		\$1.16	\$2,320.00	\$0.00	\$0.00
	Packages	Manufacturer			Roselle Group Wood			
P-18B	2000	Holiday Green	NB		\$1.08	\$2,160.00	\$0.00	\$0.00
	Packages	Manufacturer			Roselle Group Wood			
P-18C	2500	Holiday Red	NB		\$1.27	\$3,175.00	\$0.00	\$0.00
	Packages	Manufacturer			Roselle Group Wood			
P-18D	2000	White	NB		\$1.09	\$2,180.00	\$0.00	\$0.00
	Packages	Manufacturer			Roselle Group Wood			
P-18E	2000	Black	NB		\$1.09	\$2,180.00	\$0.00	\$0.00
	Packages	Manufacturer			Roselle Group Wood			
P-18F	400	Light Brown	NB		\$1.09	\$436.00	\$0.00	\$0.00
	Packages	Manufacturer			Roselle Group Wood			
P-18G	2000	Yellow	NB		\$1.01	\$2,020.00	\$0.00	\$0.00
	Packages	Manufacturer			Roselle Group Wood			
P-18H	2000	Dark Brown	NB		\$1.09	\$2,180.00	\$0.00	\$0.00
	Packages	Manufacturer			Roselle Group Wood			
P-18I	500	Purple	NB		\$1.01	\$505.00	\$0.00	\$0.00
	Packages	Manufacturer			Roselle Group Wood			
P-18J	1000	Light Blue	NB		\$1.01	\$1,010.00	\$0.00	\$0.00
	Packages	Manufacturer			Roselle Group Wood			
P-18K	1000	Light Green	NB		\$1.01	\$1,010.00	\$0.00	\$0.00
	Packages	Manufacturer			Roselle Group Wood			
P-18L	1200	Pink	NB		\$1.01	\$1,212.00	\$0.00	\$0.00
	Packages	Manufacturer			Roselle Group Wood			
P-18O	2000	Assorted	NB		\$1.09	\$2,180.00	\$0.00	\$0.00
	Packages	Manufacturer			Roselle Group Wood			
P-18S	300	Slate	NB		\$1.01	\$303.00	\$0.00	\$0.00
	Packages	Manufacturer			Roselle Group Wood			
P-18U	400	Magenta	NB		\$1.09	\$436.00	\$0.00	\$0.00
	Packages	Manufacturer			Roselle Group Wood			*
		Waste Paper Content			1			
		Total "All or None" Bid Price - Group XI-A	NB			\$23,307.00		\$0.00

DATE OF	OPENING	G: February 25, 2010 @ 2:30 p.m	DGS Educational Products	Elgin S	chool Supply Co	Jak Pak	Mac Papers
BID TITI	E: Paper I	Products - Warehouse Stock	4801 Linton Blvd. Unit 11A-650	260	Ryan Avenue	7780-4 Westside Industrial	8610 E. Sligh Avenue
BID: # 11-			Delray Beach, FL 33445	Chico, CA 95973		Jacksonville, FL 32219	Tampa, FL 33610
ITEM#	QTY.	DESCRIPTION					
	Packages	Manufacturer		Roselle			
PP-18O	2000	Assorted	NB	\$1.97	\$3,940.00	NB	NB
	Packages	Manufacturer		Roselle			
PP-18S	300	Slate	NB	\$1.91	\$573.00	NB	NB
	Packages	Manufacturer		Roselle			
PP-18U	400	Magenta	NB	\$2.12	\$848.00	NB	NB
	Packages	Manufacturer		Roselle			
		Total "All or None" Bid Price - Group XI	NB		\$40,630.00	NB	NB
	GROUP X	XI-A: CONSTRUCTION PAPER (Recycle)					
PP-18A	2000	Orange	NB	NB		NB	NB
	Packages	Manufacturer					
PP-18B	2000	Holiday Green	NB	NB		NB	NB
	Packages	Manufacturer					
PP-18C	2500	Holiday Red	NB	NB		NB	NB
		Manufacturer					
PP-18D	2000	White	NB	NB		NB	NB
	Packages	Manufacturer					
PP-18E	2000	Black	NB	NB		NB	NB
	Packages	Manufacturer					
PP-18F	400	Light Brown	NB	NB		NB	NB
	Packages	Manufacturer					
PP-18G	2000	Yellow	NB	NB		NB	NB
	Packages	Manufacturer					
PP-18H	2000	Dark Brown	NB	NB		NB	NB
		Manufacturer					
PP-18I	500	Purple	NB	NB		NB	NB
		Manufacturer				1	
PP-18J	1000	Light Blue	NB	NB		NB	NB
		Manufacturer					
PP-18K		Light Green	NB	NB		NB	NB
		Manufacturer	-				
PP-18L	1200	Pink	NB	NB		NB	NB
		Manufacturer		- 125			
PP-18O	2000	Assorted	NB	NB		NB	NB
		Manufacturer		- 125			
PP-18S	300	Slate	NB	NB		NB	NB
100		Manufacturer		1,2		1,12	- 125
PP-18U	400	Magenta	NB	NB		NB	NB
100		Manufacturer	112	112		112	112
	1 ackages	Waste Paper Content					
		Total "All or None" Bid Price - Group XI-A					

DATE OF	OPENING	G: February 25, 2010 @ 2:30 p.m	Pyramid School Products		RIS Paper Comp		School Specialty		
BID TITL	E: Paper	Products - Warehouse Stock	6510 North 54th Street Tampa, FL 33610-1908		1531 Boettler Rd., Ste. E		W6316 Design Dr.		
ID: # 11-	011-SN				Uniontown, OH	44685	Greenville, WI 54942		
ITEM#	QTY.	DESCRIPTION						<u> </u>	
	Packages	Manufacturer				Pa	con		
P-18O	2000	Assorted	\$2.31	\$4,620.00	NB	\$2	2.45	\$4,900.00	
	Packages	Manufacturer				Pa	con		
PP-18S	300	Slate	\$2.02	**\$60.60/\$606.00	NB	· ·	2.13	\$639.00	
	Packages	Manufacturer					con		
PP-18U	400	Magenta	\$2.21	\$884.00	NB	\$2	2.33	\$932.00	
	Packages	Manufacturer				Pa	con		
		Total "All or None" Bid Price - Group XI		**\$42,792.60/\$43,338.00	NB			\$45,818.00	
	GROUP	XI-A: CONSTRUCTION PAPER (Recycle)		**addition error					
PP-18A	2000	Orange	NB		NB	\$2	2.16	\$4,320.00	
	Packages	Manufacturer					con		
PP-18B	2000	Holiday Green	NB		NB		2.30	\$4,600.00	
	Packages	Manufacturer				Pa	con		
PP-18C	2500	Holiday Red	NB		NB		2.15	\$5,375.00	
	Packages	Manufacturer					con		
P-18D	2000	White	NB		NB	\$1	.84	\$3,680.00	
	Packages	Manufacturer					con		
P-18E	2000	Black	NB		NB	\$1	.89	\$3,780.00	
	Packages	Manufacturer					con		
PP-18F	400	Light Brown	NB		NB	· ·	.99	\$796.00	
	Packages	Manufacturer					con		
P-18G	2000	Yellow	NB		NB	· ·	2.13	\$4,260.00	
	Packages	Manufacturer				Pa	con		
P-18H	2000	Dark Brown	NB		NB	\$2	2.26	\$4,520.00	
	Packages	Manufacturer				Pa	con		
PP-18I	500	Purple	NB		NB	\$2	2.24	\$1,120.00	
	Packages	Manufacturer				Pa	con		
P-18J	1000	Light Blue	NB		NB	· ·	.50	\$1,500.00	
	Packages	Manufacturer				Pa	con	_	
P-18K	1000	Light Green	NB		NB	\$1	.58	\$1,580.00	
	Packages	Manufacturer				Pa	con		
PP-18L	1200	Pink	NB		NB		.50	\$1,800.00	
	Packages	Manufacturer					con		
P-18O	2000	Assorted	NB		NB		2.00	\$4,000.00	
	Packages	Manufacturer					con		
P-18S	300	Slate	NB		NB		.58	\$474.00	
	Packages	Manufacturer					con	<u> </u>	
P-18U	400	Magenta	NB		NB	\$1	.72	\$688.00	
	Packages	Manufacturer				Pa	con		
		Waste Paper Content						**Addition error	
		Total "All or None" Bid Price - Group XI-A	NB		NB			**\$36,024.00/\$42,493.00	

DATE O	F OPENIN	G: February 25, 2010 @ 2:30 p.m	Smith Office & Computer Supply				
		Products - Warehouse Stock	1009 S. 21st Ave.	2251 Foster Ave.	4151 Woodcock Dr.	03 Rdigeview Dr., Bldg	
BID: # 11			Hollywood, FL 33020	Wheeling, IL 60090	Jacksonville, FL 32207	Lewisville, TX 75060	
ITEM#		DESCRIPTION					
	Packages						
PP-18O	2000	Assorted	NB	\$2.32 \$4,640.00	NB	NB	
	Packages	Manufacturer					
PP-18S	300	Slate	NB	\$2.02 \$606.00	NB	NB	
	Packages	Manufacturer					
PP-18U	400	Magenta	NB	\$2.21 \$884.00	NB	NB	
	Packages	Manufacturer					
		Total "All or None" Bid Price - Group XI	NB	\$43,460.00	NB	NB	
	GROUP	XI-A: CONSTRUCTION PAPER (Recycle)					
PP-18A	2000	Orange	NB	NB	NB	NB	
	Packages	Manufacturer					
PP-18B	2000	Holiday Green	NB	NB	NB	NB	
	Packages	Manufacturer					
PP-18C	2500	Holiday Red	NB	NB	NB	NB	
	Packages	Manufacturer					
PP-18D	2000	White	NB	NB	NB	NB	
	Packages	Manufacturer					
PP-18E	2000	Black	NB	NB	NB	NB	
	Packages	Manufacturer					
PP-18F	400	Light Brown	NB	NB	NB	NB	
	Packages	Manufacturer					
PP-18G	2000	Yellow	NB	NB	NB	NB	
	Packages	Manufacturer					
PP-18H	2000	Dark Brown	NB	NB	NB	NB	
	Packages	Manufacturer					
PP-18I	500	Purple	NB	NB	NB	NB	
	Packages	Manufacturer					
PP-18J	1000	Light Blue	NB	NB	NB	NB	
	Packages	Manufacturer					
PP-18K	1000	Light Green	NB	NB	NB	NB	
	Packages	Manufacturer					
PP-18L	1200	Pink	NB	NB	NB	NB	
	Packages	Manufacturer					
PP-18O	2000	Assorted	NB	NB	NB	NB	
	Packages	Manufacturer					
PP-18S	300	Slate	NB	NB	NB	NB	
	Packages	Manufacturer					
PP-18U	400	Magenta	NB	NB	NB	NB	
	Packages	Manufacturer					
		Waste Paper Content					
		Total "All or None" Bid Price - Group XI-A	NB	NB	NB	NB	